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P(X < 15) = P(Z <2,5)
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H .00 .01 02 .03 .04 .05 .06 .07 .08 .09

00 S000 5040 5080 5120 5160 5199 5239 .5279 5319 5359
01 5398 5438 5478 5517 5557 5596 5636 .5675 5714 5753
0.2 5793 5832 5871 5910 5948 5987 6026 .6064 6103 6141
03 6179 6217 6255 6293 6331 6368 6406 6443 6480 6517

2.2 9861 G864 9868 9871 9875 9878 9881 9884 9887 9890
2. 3 5896 9898 9901 9904 9906 9909 9911 9913 9916

Q18 QN 99822 928 9927 9929 9qn Kavw 90 Q98
* 9940 9941 9943 9945 9946 9948 9949 9951 .99%2
K 9955 9956 9957 9959 9960 9961 9962 9963 9964

10

>



2 ;Ma‘g\ :QAL..&A gA <) _palana

Allia ) a5 i) sl ) Joadl
Sl ol dasla Dl sle 5 4y ladll g LalaBYI o slall 4108 S5l pandl s

P(X < 15) = P(Z < 2,5) = 0,9938
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P(12<X<15)=P(1<Z<25) =P(Z<25—-P(Z<1)

P(12 <X <15)=10,9938 — 0,8413 = 0,1525
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5-10 8—10
P(5SXS8)=P< > <Z< > )
P5<X<8)=P(-25<Z<-1)=[1-PZ<VD]-[1-P(Z<25)]
P(12 <X <15)=[1-10,8413] =[1 — 0,9938]= 0,1587 — 0,0062
= 0,1525
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P(Z=2)=0

P(Z < 7) = P(%.< 2)
P(Z>2z)=1—-P(Z< 2z2)
P(Z<—-2z)=1—-P(ZK z)
P(Z>-2z2)=1-P(Z<-2z)=(Z<2z)
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